UNIT 2 STUDENT PACKET

Homework

1. Calculate the average rate of change of f(x) = x% — 1 over the interval [1, 4]. .

(a) 8 (b) 6 (d) 12 (e) 4
£l)-L0) _ 15-0 .
b1 3

2. Given f(x) = x® + 4, determine f'(5) __ /4

a. 379 b. 129 .0 d. 79 @
1

£'(x)= 3x _
£'(5)=3(25)=

3x2+4x +4,x < 1
& = ’
f& {Zx +he+tegx =1
If f(x) is continuous and differentiable at x=1, then what are the values of a and b?
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3. Iff(x) =8Vx, f'(16) = 2.
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4. If f(x)—x +\/~ +- then the slope of the curve f(x) at x= 1 is
ke
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<' 5. V\i}rite the equation to the tangent and normal of f(x) = x% —2x —latx=2.
diat: @Q)tg"% ~1=32 (23) ™ 3= l()()(-))

Slpe -+ §/0x)= 3x*-2 -
],DP( ‘(_ﬂ(();)'): 10 ’\[‘ Y"’ - ‘[L‘(X-l\

6. Write the equation to the tangent and normal of f(x) = x* — 2v/x — 1 atx=1.
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HW: Pg. 116 #1-10, #31-35 0dd, 36, 39
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